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1 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 0.00 ~ 465 5792 | #n U4t | 000 ~ 465| 1.85 9.37 zh s 1.00] 500 ~ 5.00 5792 | #n st | 500 ~ 500 | 1.85 9.37
9 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00 | 0.00 ~ 4.66 58.05 | ZnLlust | 000 ~ 466 | 1.92 9.68 zh s 1.00] 500 ~ 520 58.05 | ZnLlust | 500 ~ 520 | 1.92 9.68
3 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00 | 0.00 ~ 473 5891 | Zn U4t | 000 ~ 473 | 1.89 9.54 zh s 1.00] 500 ~ 520 5891 | Zh st | 500 ~ 520 | 1.89 9.54
4 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 5.19 64.75 | #nLlAst | 000 ~ 5.19| 1.92 9.72 zh s 1.00] 500 ~ 6.00 64.75 | ZnLlst | 500 ~ 6.00 | 1.92 9.72
5 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00 | 0.00 ~ 3.97 4982 | #h s | 000 ~ 397 | 2.08 10.53 zh s 1.00] 500 ~ 5.00 4982 | #h i | 500 ~ 5.00| 2.08 10.53
6 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 000 ~ 548 68.38 | #nLlUst | 000 ~ 0.00 ]| 1.75 8.85 zh s 1.00] 500 ~ 6.00 68.38 | ZnLLUst | 500 ~ 6.00 | 1.75 8.85
7 100kN/ m##8 %% - -~ — —|3mEHEZS -~ — — —| 100kN/mM%E#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00 | 000 ~ 586 7329 | #nLlUst | 000 ~ 0.00 ]| 1.72 8.68 zh s 1.00] 500 ~ 6.60 7329 | #nLLUst | 500 ~ 6.60 | 1.72 8.68
8 100kN/ m##8 %% - -~ — —|3mEHBZS -~ — — —| 100kN/m%E#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 0.00 ~ 4.77 5940 | #hL A4 | 000 ~ 0.00]| 1.76 8.88 zh s 1.00] 500 ~ 5.00 5940 | ZHL U4t | 500 ~ 500 | 1.76 8.88
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ ImFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 %5 ~ ImFRBRD ~
zh s ~ zhnLs ~ zh s ~ s ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 % 5 ~ InFRBRD ~
Zzh s ~ st ~ Zzh s ~ st ~
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